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Rewrite each problem vertically and solve.

a. 86,880 -25,123 =

b. 55,517 -30,538 =

c. 63,892 -41,901 =

Preview

Please log in to download
the prinfable version of this worksheet.

g. 80,854 - 30,292 =

h. 75,684 -21,548 =

i. 20423 -80,372 =

j. 45,012 7,863 =

k. 91,633-79,198 =

l. 86,094 —-81,229 =
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ANSWER KEY

( Subtraction Practice )

Rewrite each problem vertically and solve.

a. 86,880 -25,123 = b. 55,517 -30,538 = c. 63,892 -41,901 =
86,880 55,517 63,892
- 25,123 - 30,538 - 41,901
61,757 24,979 21,991

Preview

Please log in to download
the printable version of this worksheet.

g. 80,854 - 30,292 = h. 75,684 -21,548 = i. 20423 -80,372 =
80,854 75,684 90,423

- 30,292 - 21,548 - 80,372
50,562 54,136 10,051
j. 45,012 -7.,863 = k. 91,633-79,198 = I. 86,094 -81,229 =
45,012 91,633 86,094

- 7,863 - 79,198 - 81,229
37,149 12,435 4,865
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